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1. The least squares results are:

, Yi=—0.4+l .OXi'*‘Ci
0. n=50
( ):standard error
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(0.231)
) ARz £ 3 4% # 3R (standard error)

logY (= constant — 0.519log Xy — 4.933 log X5

(0.477)

- _R*=0.793
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(1) g b4l B4k 8k, £43 LA FEAE (statistically significiant) ?

(2) 16 F1 S 2 30547 69 F ok F LB X T A & 3t oY B ¥ (significance

of the overall regression) 7 (i %] o =0.05 695k 8) (5%)
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F(0.0552.26)=3.37 F(0.1;2.26)=2.52
10.05 ;26)=1.706  1(0.025 ; 26)=2.056
F(0.0552.28)=3.34 F(0.1 ;2.28)=2.50
1(0.05 ;27)=1.703  1(0.025 ; 27)=2.052
[(0.05;230)=3.32 F(0.1;2.30)=2.49
((0.05;28)=1.701- £(0.025 : 28)=2.048
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